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General Instructions :
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The question paper comprises of two Sections, A and B. You are to attempt both the
sections. :

. All questions are compulsory
. All questions of Section-A and all questions of Section-B are to be attempted separately.
. Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence

. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered

in about 30 words each.

. Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical
skills. Each question is'a one mark question. You are to select one most appropriate
response out of the four provided to you.

Question numbers 34 to 36 in Section-B are questions based on practical skills. Each
question is of two marks.
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HET-3T / SECTION-A

J/ ﬁﬁmmﬁmwﬁwﬁaﬁm%? 1

Why the cell membrane is called a selectively permeable membrane ?

2 % I T | et IR difas fvE - Fe, 9, @ 9 gan ¥ 9 9% we o difos afr g s 1
S 91 B, Ho Taq et gt aegeli & ford wew fem wdi 87
Out of the four physical quantities associated with the motion of an object viz, Force,

Velocity, Acceleration and momentum which one remains constant for all bodies large or
small, undergoing a free fall ?
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A runner presses the ground with his feet before he starts his run. Identify action and reaction
in this situation. 4
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What is effect of increase in temperature on the solid state of matter ? Explain.

5 fre o % 3 fafire v 9 SedrE | 2
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Mention the different components of blood in the following diagram ?
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(iv) T A F
Write one example each of the following situations :
(1) uniformly accelerated motion.
(i) acceleration is against the direction of motion.
(iii)  acceleration is in the direction of motion.

(iv)  acceleration is rion uniform.
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(@) How can we say that sugar is a pure substance whereas milk is not ?

Which of the following materials fall in the category of a pure substance ?
(i) Ice (ii) ~ Iron ) (iii)  Wood (iv)  Brick
— . :
\/ afifi & e % ST o w1 SE H & fer 39w f w@a € ) wRe W wifew a2 we der a3
@M ?

People of village use earthen pots to get cool water in summer. Explain the reason that why
water remains cool in earthen pots ?
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When a fine beam of light enters a room through a small hole, tyndall effect is observed. Why
does this happen ? Give one more example where this effect can be observed.

\1% FHIferEs ¥ ARHEM 981 8 W B ? (FE 9 v fefau) 3

What  would  happen if " there were no lysosomes in  the cell ?

(Give any three effects)

g/ (@ S 1 R fafag 5
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(a) Define tissue.
(b) What is their uti]it)’r in multicellular organisms ? Give two reasons.

(c) Why are tissues different in plants and animals ?
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State reason for the following :
CV/ It is difficult to hold a hose for a fireman when it ejects large amount of water.
J When an athlete comes running from a distance, he is able to jump longer.
(

It is difficult to walk on a slippery road.

13 feret FarE | fouamEeen @ ©F #01 8rel ) 3
(a) 1S a7 frat o aw fam 2
(b) 3 %she d 7 frat g o fom ? 3 Aehei % varq 9¢ foee =@ @ erdt 9 e ?
\]/ A particle is released from rest from a height.
find the distance it{i!ls through in 1 sec ?
\LU/ Find the distance g falls through in 3 sec. Also find the speed with which it strikes the ground
after 3 secs. ,
3
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Write the difference between distance travelled by a body and its displacement. An ant travels a
distance of 12 cm from A to B and then moves a distance of 9 cm at rightca/ngle to AB. Finc the

resultant displacement and the total distance covered by it.
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A stone is thrown in a vertically upward direction with a velocity of 6 m/s. If the acceleration of the
stone during its motion is 10 m/s2 in the downward direction, what will be the height attained by the
stone and how much time will it take to reach there ? '
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If the distance between two masses be increased by a factor of 6, by what factor would the mass of

one of them have to be altered to maintain the same gravitational force ? Would this be an increase or

decrease in the

mass ?
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An animal husbandry farmer went to buy few ‘Sahiwal’ cows whereas other farmer wanted to
perchase “Jersey” cows, which had more lactation period than the first one. Ramesh, the third
farmer, advised them to buy cross breed of both and which is better breed than the others.

(1) What are ‘Sahiwal’ and ‘Tersey’ breeds ?

(ii) Why the cross = breed produced is better than the other two
breeds ? . a A
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(i) ~ What prompted Ramesh to advice his friends ?
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Give two examples of shell fishes:

Mention the names of four marine fish of high economic value.

3MIh) Tenielel Ud 5o 1 O g fem mn &1 8 e wed o yud e &1 fafy fafed
T W EE SO aTel e ol Ueh ATifeRd s SR |

You are given a mixture of alcohol and water. Explain the process to separate it into its

constituents. Draw a labellec diagram of the technique used .

(@) T < ufweneli & = fofaw < 98 =amen F3dt € FF vered % o @) aen § 39F Ol
I i F gfg & SR 81

(b)  aver w1 gRenfad Few) v wifse fF g6l & aera Fi e €2

(a) Name any two processes which illustrate that on heating movement of particles of

matter increases.

(b) Define fluidity. Explain why do liquids flow ?

Iy 1 ST w1 WS 9 Rad ThE 99 Fed &2 Sgahias sial § 99 faasE s

21
IETeLUT 51 HHEET |
Why the cell is called the structural and functional unit of life? Explain the concept of division
of labour in multicellular organisms giving an example.
2 (a)  3eorg s f A @ St TR o geame W el foRelt st T aen a4 e At 82
(b)  50ms™ 1M A TN A 4 g TAWH HI HIE et fmet AR F 10 em FT TR TF UG AT
¥ Sam gra wege st el aftewferd wif )
(¢) A 40ms™1 T Y IRAA 5 g THME HI HIE el 6 SR ¥ TF, d 9% SER A Y
TeUEl T S ? 39 W A HR Whea gfee Hifem ) ° ¢/
(a) State the reason why a small mass of bullet fired from a gun kills a person. \éo ;
7 ﬁ(
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{b) A bullet of mass 4 z fired with a velocity of 50 ms ! enters a wall up to a depth of 10 cm.

Calculate the average resistances offered by the wall.
(c) How will the depth of penetration into the wall change if a bullet of mass 5 g strikes against it

with a velocity of 40 ms 1 2 Give reason to justify your answer.

(@) @1 g quid: farraveren a1 yofa; nftm svewen § 2 Gendl ¥ 7SS0 5R1 W9 iR

23
(b) T FHA W % fore SR W A9 W WA AT WE F de A gl @ fa
T gAgiGUe 9% &1 A e ¥
(a) Can a body exist in a state of absolute rest or of absolute motion? Explain. With
example.

(b) Draw a velocity-tirne graph for an object in uniform motion. Show that the area under
the velocity-time graph gives the displacement of the object in the given time interval.

24 Fagel &1 faoft aur S sl § HHtor A & qvera W e il w5 e st
Explain the desirable traits obtained after cross-breeding an indigenous and an exotic breed of
poultry birds.

HIT-€ / SECTION - B
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Zubeda while performing food test used iodine solution with a dropper to test the presence of
starch and then she dipped the same dropper in conc. hydrochloric acid for testing
adulteration in dal. Her teacher instructed her either to wash the dropper or use separate
dropper. This is because :
(a) dropper might break in acidic solution
(b) it might contaminate hydrochloric acid
(c) iodine solution might turn the acid blue black
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(d) there were many droppers available
26 w=HEH eEE A @ R S sem A g eR © 1
@@  en-wrer . (b) T I
(o) wewm dien Co@ T i afEd T TR
The colour which starch develops upon interaction with iodine solution is :
M bluish black (b)  dark black
(c) pale vellow (d) no change in colour
27 Hifirer & o o AN e i ad e 1

(a)  fires 3wt 1 s @ i fafired gRT e e ST T
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Some properties S of a compound are given below. The correct property
is :

(a) It is casy to separate components of a compound by physical methods.
The clements in a compound do not retain their individual properties

(c) The proportion of the elements in a compound always varies

(d) The clements of a compound retain their properties to some extent.

28 foreft Wit o < U Tt | eie-gul ad1 Her arsel & fagor #, Stan f fam A quim o g, 1
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In an experiment, carbon disulphide was added to a test tube containing a mixture of iron
filings and sulphur powder as shown in the given diagrams.

— p
i Iron— Clear —- Clear —i-
filings solution solution
:b_lég:
Sulphur powder iron filing Iron filing Sulphur powder
) _ @ ' (1) vy

The correct observation is represehted in diagram :
(a) 1 (b) I c III (d) v

29 Y= WEel J 2.0 g HIR Hehe e W@ €1 wEed ®  fwa s €1 w | A e 1

(@) e faeed ¥

(b)  HY T erEen # uitafda 2 €
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(d)  vad UEE FoAAM & ®Y H ghe-gHs dl 9 ¢

2.0 g copper sulphate crystals are placed in a dry test tube. The test tube is heated. The
copper sulphate crystals :

(@) melt only. :

(b) directly change into gaseous state.

() melt and then change to gaseous state.

(d) crumble to form white powdery mass.

30 st 1 feoll i IR i STRAR Wige I g9 gereei g1 Ufem s W sed fomdt 3 1
'ETT@T“TFT'@TH:

(@) . Sz o (b)  TEEEW
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When an onion peel cell is observed under a compound microscope the part that can be
observed is :

(a) Nucleolus ; (b) -~ Ribosomes

(& Nucleus (d) Endoplasmic Reticulum

31 fryefarfiad fast § A 991 B &1 9@ IS §

?\r

(@) A -%%F, B- SR (b)  A-EgwEe, B - dfree
(0 A-dfywe, B-FE®F ° (d) A-SIRS B-FEH

In the following diagram; the correct labeling for A and Bis :

(a) A - Nucleus ; B - Dendrite. Q})/ A - Dendrite ; B - Axon
() A - Axon ; B - Nucleus (d) A - Dendrite ; B - Nucleus

P.3e110f13
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To separate the mixture of sand, ammonium chloride and common salt the teacher advised to
separate the sublime substance from the mixture first before dissolving in water. The reason

for this could be :

(a) to save time as after adding water we need to evaporate it.
(b) comumon salt and ammonium chloride both are solible in water.
() sublimation is easier than dissolving salt in water

(d)  no specific reason it can be done in any order

33 foet 9 w1 eEE A % fare e st A E 1
(a)  FWTHGER o & |
(b) T HL

(c) 7 FHHFIGR qell 7 T |

(d) W FAFIER T 91T H

To measure the mass of an object we require :
(a) spring balance

(b) pan balance
neither spring balance nor pan balance

(d) either spring balance or pan balance

24 mﬁeﬁmmmwﬁmﬁmmﬁmﬁwm%?m‘m 2
qHY &Y a1 % Y W w1 9aed St 3 e SR s Seed e i wean & = § e
ifew ? =4 ?

While making a colloidal solution of starch in water why is constant stirring required ? Should we add
dry corn starch to boiling water or boiling water to corn starch ? Why ?

35 el T FEUAE TG FE b g o frafafad et FeRaT & FR0T SFE wifed - 2
(i) ey o1 dew SiE o1 A9 9 eyl 9@ g =ifeu
(i) S T 3 A T TR = S a9

In an experiment to determine the boiling point of water, state reason for the following

Pz2120f 13
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precautions:-
(1) The bulb of thermometer should not touch the sides of beaker.

(ii) While boiling water, pumice stones should be added.

36 el o A gt fewfael &1 5=mE 6.0g fFTs far @ik e v ar e w@ | falid 2
@ wvHa feufaal &1 g599@ 10.5g W fevfel gu sEwifE we w1 wfawaar aftsfod
Fifs)  faofon v 70 st €2 |

A student recorded the mass of dry raisins as 6.0g and mass of raisins after soaking them in
water for about four hours as 10.5g. Calculate the percentage of water absorbed by raisins.

Why do raisins get swelled up ?
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